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A. PHAN TRAC NGHIEM (5 POINTS)

Indicate the correct answer to complete each of the following questions.

Question 1: The aircraft, which originally headed Heathrow, had to make an emergency
landing at Orly.

A. into B. for C.at D. on
Question 2: His father left New York. The doctor suggested he there.

A. won't stay B. not stay C. not stayed D. not go to stay

Question 3: Nguyen Hue invited scholars at that time: Nguyen Thiep, Tran Van Ky, and
Ngo Thi Nham.

A. X B. some C. the D. that
Question 4: The greater amounts of oil and other fuels burned to create energy _ chemicals
which add to global warming.

A. exhaust B. discard C. release D. dump
Question 5: After the children finished their dinner, they went to bed __ listened to a bedtime
story before falling asleep.

A.and B. while C. that D. so
Question 6 research, weather forecasters used to know about the coming weather with
certainty.

A. According to B. With a view to C. On account of D. In order to

Indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the
following questions.
Question 7: They all encouraged my creativity and inspired me in many ways.

A. motivated B. disappointed C. overlooked D. rejected
Question 8: Solar technology has also emerged for the clean and renewable production
of hydrogen as an alternative energy source.

A. endless B. restricted C. infinite D. substitute
Indicate the word(s) OPPOSITE in meaning to the underlined word(s) in each of the
following questions.

Question 9: Many people move to urban areas seeking for job opportunity as well as
stable employment.

A. temporary B. durable C. long-lasting D. steady

Question 10: Cigarette butts are not biodegradable and contain extremely toxic soluble chemicals.
A. venomous B. harmless C. endangered D. deadly

Find the word which has a different sound in the part underlined.

Question 11: A. devote  B. envelope C. overdone D. remote

Question 12: A. removed B. populated C. reminded D. protected
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Choose the word which has a different stress pattern from the others.

Question 13: A. organic B. benefit C. generate D. biomass
Question 14: A. perseverance B. dedication C. experience D. influential
Indicate the correct response to each of the following exchanges.

Question 15: Susan shared with her friend about her losing purse.
Susan: "I have lost my purse." - Her friend:

A. It's careless. B. That's nothing. C. Oh, be careful D. Oh, what a pity.
Question 16: "Oops! I'm sorry for stepping on your foot™ —
A. You're welcome B. Never mind C. That's fine D. You don't mind

Choose the word or phrase among A, B, C or D that best fits the blank space in the
following passage.

Travelling is a great thing to do. It helps us learn about different people and different
places. Some people travel (17) they want to see nature. Others travel because they
want to make friends and try great food. Of course, a lot of tourists are interested in traditional
culture.

Tourism can be very good for traditional cultures. This is because when people travel to
another country, they often want to learn more about that country's traditions, such as music,
food, and history. Therefore, the local people in that country will keep their traditional culture

(18) . They will wear traditional clothing, and sell traditional food. They will also have
shows for tourists. These shows can be (19) _ , concerts, plays, or something else.

Tourism also helps people respect each other. If you understand another culture well, you
will probably respect that culture much more. You will probably want to (20) __ that culture as
well.

Question 17: A. Although B. because C. despite D. therefore
Question 18: A. clean B. alive C. beautiful D. luxury
Question 19: A. foundations B. dances C. establishment  D. fact
Question 20: A. prevent B. protect C. train D. work

Read the following passage and mark the letter A, B, C, or D to indicate the correct answer to
each of the questions.
The costs and benefits of global warming will vary greatly from area to area. For moderate climate
change, the balance can be difficult to assess. But the larger the change in climate, the more
negative the consequences will become. Global warming will probably make life harder, not easier,
for most people This is mainly because we have already built enormous infrastructure based on the
climate we now have.
People in some temperate zones may benefit from milder winters, more abundant rainfall, and
expanding crop production zones. But people in other areas will suffer from increased heat waves,
coastal erosion, rising sea le more erratic rainfall, and droughts.
The crops, natural vegetation, and domesticated and wild animals (including seafood) that sustain
people in a given area may be unable to adapt to local or regional changes in climate. The ranges
of diseases and insect pests that are limited by temperature may expand, if other environmental
conditions are also favourable.
In its summary report on the impacts of climate change, the Intergovernmental Panel on Climate
Change stated, "Taken as a whole, the range of published evidence indicates that the net damage
costs of climate change are likely to be significant and to increase over time.”
Question 21: In paragraph 1, the word “this” refersto .

A. flood in low-lying areas

B. climate change on global scale
C. harder life as a result of global warming
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D. easier life as a result of global warming
Question 22: In paragraph 2, the word “erratic” is closest in meaning to .

A. changeable B. unchangeable C. unpredictable D. predictable
Question 23: According to the passage, all of the following are the results of global warming
EXCEPT :

A. coastal erosion B. stable rainfall
C. higher temperature D. increasing sea level

Question 24. What may happen to diseases and insect pests as a result of global warming?
A. They will become extinct. B. They will be under good control.
C. They will not harm our planet. D. They will increase in number.

Question 25: What is the main idea of the passage?
A. Reasons why global warming is a problem.

B. Reasons why low-lying areas are flooded.
C. Environment pollution is real.
D. Solutions to global warming.

B. PHAN TU LUAN (5 POINTYS)
Put the verbs into correct tenses (1.0 point):

1. Whenl(arrive) .......cooovviiiiiiiiinn, at this house, he still (sleep) ...,
2. Thelight (g0) ......oovveiiiii, outwhilewe (have) .........ccooviiiiiiiiiins dinner.
3oh(read) oo that novel by Hemingway several times before.
Ao, (Maria/ learn) English for two years.

Put the words into correct forms ( 0.5 points):

1. During that time, we've grown ..................ccoveen... as an organization - adding staff

positions, increasing programming. SIGNIFICANT
2. The ways a person dresses and behaves in public are distinct examples

OF oo diversity and belief patterns. CULTURE

Choose the word or phrase among A, B, C or D that needs correction and correct them (1.5
points):

1. When rain occurs in these large cities, the rain filters down the pollutants such as CO> and
A B
another greenhouse gases in the air onto the ground below.
C D
2. Sales of the newest computer have doubled since the past eight months.
A B C D
3. Much of the solar energy that reaches rural areas is consume by evaporation of water from
A B C D
vegetation and soil.
Correct form of words in brackets, using repeated comparatives (0.5 points):
1. Itgets .o to understand what the professor has explained. (difficult)

2. As she did so, her parentsbecame ... (angry)

Rewrite the following sentences (1.5 points):
1. Mai can’t swim. It surprises all of us. (Using which as connector)
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2. Jack left the office before | arrived

3. Jack bought those shirts last month and has been wearing them ever since.
-> Jack has DEEN WeATTINE. ...ttt e et ettt et
4. Tim graduated with a good degree. He joined the ranks of the unemployed. (Using “Although’)

5. You must find it necessary to finish the project now
-> |t is necessary
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